SH2EE HERDFRATERFIAKRE
EA3ENVFR—ILRE R

H1H £M2E108318(X). 11 A18(A)
[BFDER] =15 ERTHTEREABE
= F AL PR
34 é 20
15 — 10
19 — 10
30 10 16 24
© G)
15 — 4 7 13
1 1ﬁ1 E 15 — 6 9 11
32 16 6 L 26 25 1 16 13 21
{ /
10A31H 6 — 5 3 — 14 13 — 8 3 — 15
16 — 11 3 12 12 — 8 10 — 6

7.|
ot
Bui}

= B Hoi
28 E Hoi
~ E
BT
H
[ B
B} EF o



SH2EE HERRFREATERFAKRSE
EA3MN\ER—ILKE FE

B H SM24F10A318(X).11A18(H)
[ZZFDER) =15 ERTRAEABE
= [E T i F AR
11A1H 28 | 15
4
17 — 5
11 — 10
8 13

1 N

N O
o N

10H31H

4} E Bl
[ 6 Bl

i o
S E6] Bol



10A31H (%) EMHTRAGE
NO. =i Ad—Fp Ba—Fk
= [EfE = EME R fE AL — TZH
1| 9:10~| @ 16 | ®I 16 @ 3 LA 14
32 16 ®E 11 217 6 3 ®E 12 26
H® — = PR 7 — =E[m
2 |10:30~| ® 13 | @i 8 @ 3 GBS 15
25 12 ®E 8 16 13 10 ®E 6 21
— =R — EME-HE
3 [11:50~ BT 7 6 S 7
0 E: 0 8 o1 #w 14113
— = — T{H
4 |13:10~ kS ® 15 | AT 4
0 ®E 0 30 15 ®E 6 10
— = — =ER[mE
5 [13:30~ kS ® 7 ESNIBE
0 ®E 0 16 9 ®E 11 24
11818 (8) EMHRASEE
NO. | B[ o 48—a—h
] =& — EfE-HH
2Z| o:30~ 7] mE | 5
28 | 11 ‘¥ 1015
ER
3 =7 — =&
= [11:00~| @ 15 | @i | 10
¥ 34 o= [10] 20
BF ZF
ST PER = [ T 3L B PR
25 (2% &E#H5EH) (3F#RYIMEA)
B =@ E R BEE-HEPPR
E=f ZE JURTACE ink i 5 T X7 7 Fh A
E=4 TIZHBIY FAPER
BF ®F
5% & = I fE PR #HE EX = IR R
1( SHH R = [ i 3L PR B HEL = F IR R
% Tik sy = I fE PR BRE ftE = IR R
= BB A5 EEHIERER | BEARE & ERHGIIERER
g FIE &3} = IR PR g =i =TI ERER
¥ M @8 ESETHERRSE | NHE £F SEmUmETER
EH B FLCHEITFCHETER|] AE #HRE = I f PR




